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D16L=240
L
Dl16L=249 42
100
D16L=249 (mx0. 026x02./246x0. 01 6x°02./2441)00x1. 20()x1000=10. 14kg/ 100

©2828= 42



(0. 40+0. 1x451.4302. 1 0) 3.14 n2

M
1

3.14 n2



A2

A2 1o
24-128 258 n8 1.40
ne 5 .47
SD3 45,008l 6 kg 168
D16L=240 42
92628 42
ne 3 .14
n8
D16L=240 kel 1§0 1041




A2

(24-12-25B8B
0.80.866. 132 = 0.69 n3
0. ¥00. 10+0x52032 2 = 0.80 n3
2 = 1.40 n8
( 0. 40 +x05..6302) = 5.23 n2
{ 0.x300. 6 0 +x0(.01.01 0 + O x 2x01)//s2i¥n 7 O = 0.24 n2
2 = 5 .47 n2
SD345
D2 - kg
D& 168 .kg
D% - kg
D2 - kg
D3 - kg D16eD3= 168 .kg
D16L=240
L
Dl6L=24% 42
100
D16L=248 (mx0.026x02./246x0. 016x"02./2441)00x1. 20()x1000=10.14kg/ 100

©2828= 42



(0. 40+0. 1x451.4302. 1 0) 3.14 n2

M
1

3.14 n2



A2

A2

10

2.5

2.5




A2

EEEE

[eNeNOR
— 10O N M~
O OO
namn
QA A AN
L B |
X X X X
QO QQ L0
2@33
O O N
X X X X
O N O
N O ©
O O -
A NMm<



10

GRLC

10

V=0.

031 7

. 021

. 021




B L H
(i (_in (_n ( _m3
0.52 0.01 0.52 0. 030 6
0.03 0.53 0.30 0. 0203
0 .04 0.05 0.30 0 . 000 6
0.02 0.51 0.30 0. 0900
0.01 0.51 0.30 0. 0500
0.01 0.01 0.30 0. 0300
0. 0217




10

t =m0 m m 9 .85
t=10cm| n2 9 .00

t = 5m m m 9 .85
3cm 6c¢cm ne 5 .62
«C ) nB 0.63

n3 0 .62

( ) n3 0 .62
24-1H”-25 n3 0 .62
n2 1.44

ES( ) m 9.85
M2 13
SD348, D1 kg 4 34,
70 0 1961
), o ASOL3 9 .00
M- 30,n B0 m 9 .00

M- 30, m=r20]0 m 0.21




Al
A2

Al
A2

Al
A2

Al
A2

Al
A2

Al
A2

—~
—
1]

A2 0mm

>
( t=10¢m
(1)
(1)
>
( t=p0mm
(1)
(1)
>
(3cm 6c¢cm)
(0.25%x@8.938)
(0. 25%x0.98)
>
«C )
8 0 .40
«C ). ( )
26 .50
(24-12-25H
(0. 25%0 . 3x809.50
(0. 25%0 . 3x809.50
>
4. ¥686988
4. ¥86988

D

.97
.97

N

.85

.05
.05

3|3 3

©

oSN

.00

.97
.97

SIS

©

NN

.85

. 36
. 36

3|3 3

o O

. 62

.63

. 62

.31
.31

SIS

o

o O

.62

.27
.27

33 &

=

B[R B



4 .

Al
A2

10

S &

11

Al
A2

12

Al
A2

13

Al
A2

14

Al

( ES ))

7x829

(SD345, D13

o

. 0x4158 2x 2x 0 . 9 9 Bk g/
. 5x828 2x 0. 99 mk g/

D

( 70 )

© 4. ¥ 8 9 0x012000
: 4. ¥ 8 9 0x012000

( () As(13),)t=40mm
(1)
(1)
( , t =3 0mm
(1)
(1)
( , t=1Dp0mm

2z

9.85

76
76

m

13

©

.85

=

1961

N

.05
. 05

D

©

.00

D

.05
.05

N

B[R B

©

.00

SIS



10

.90

( 35 m

.21

.01

24-12B 258B

.80

.97

3.0m 5. 0m

.21

18-8B258B

.10

BR|B|R|R|B|B|R|3

.40

.90

.70

.10




0. 40. 20.07
0. £0.01
( ) 35cm

(3)

0.00. k2. 8%/ 3

(24-12-25BB

0. 40. 20 .07

0.468.16. 22 x0.07

35cm

(3)

(t=10¢M) 8B258B

(3)
0. %x0.01

0.88.01

0.8686. 86.07

=

Inin

oO|O O
o|o O
B &3

(o}



10

0.86.850.70.008.10 0.70 n8

11

0.09-0907/0. 0.10 n8



5%

&

10

9 33.

9 33.

9 33.

9 33.

9 33.




9 33. n2

5%



NE

L

ol

39 .64[5

B

8 8 .68(8

9338

10.76|9 42 .87|8

)

3

4
4

o
10,006 2
10,006 3

4 8[x
3 Ofx
3 Bfx

75|x

Wb

F b

Wb

F b

.50




10

¢ 8 9L m 3.63

H3 kg 128

[ - 1x0508 2 ® 3 2 m 2 06.
m 2 20.

m 2 20.

m 2 04.

m 2 06.

2m m 2 20.

m 2 20.

¢ 1 50. 24




mtx0. 08 86x12 3.63 m

( H 3
@891 x 32 W= 6 .87 k gn

0. 2x765. ¥ Bx 2 = 2 24. kg
[ - 1x0508 2832 W= 5.50 k gni
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